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Question Title Mean Max Mark Attempt %
1 521 4.7 2.4 10 47.2 100
2 521 5.1 2.2 10 50.6 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4. The success of fashion and textiles products depends on the careful selection of materials
used to manufacture the product.

(a () Explain why the named material is the most suitable choice for each of the products

pictured. _ 2 x12]
Knitted Cotton sleep suit Woven Jute shopping bag
Named Material: Cotton Named Material: Jute
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(i)  Explain why the construction method used to make the material for each of the

products pictured above is the most suitable. 2 x[2]
Material construction: Knitted Material construction: Plain weave
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(b)  Anthropometric data would have been used to help develop the sleep suit and shopping
bag. Explain why primary research would be used to gather this information. [2]
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(c) The sleep suit is available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written
communication.
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4. The success of fashion and textiles products depends on the careful selection of materials o

used to manufacture the product.

(a) (i) Explain why the named material is the most suitable choice for each of the products

pictured. 2x][2]
Knitted Cottoh sleep suit Woven Jute shopping bag
Named Material: Cotton Named Material: Jute
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(i) Explain why the construction method used to make the material for each of the

products pictured above is the most suitable. ‘ 2 x{2]
Material construction: Knitted Material construction: Plain weave
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(b) Anthropometric data would have been used to help develop the sleep suit and shopping
bag. Explain why primary research would be used to gather this information. - 12]

ks e

(c) The sleep suitis available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written

communication.
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4. The success of fashion and textiles products depends on the careful selection of materials
used to manufacture the product. '

(a) (i) Explain why the named material is the most suitable choice for each of the products

pictured, 2 x[2]
Knitted Cotton sleep suit Woven Jute shopping bag

Named Material: Cotton Named Material: Jute
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(i) Explain why the construction method used to make the material for each of the

products pictured above is the most suitable. 2x1[2]
Material construction: Knitted Material construction: Plain weave
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Examiner

(b) Anthropometric data would have been used to help develop the sleep suit and shopping
bag. Explain why primary research would be used to gather this information. [2]
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(c) The sleep suit is available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written
communication.
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Question 4

The success of the fashion and textiles product depends on the AO3 | AO4

careful selection of materials used to manufacture the product.

Mark

(a)
()

Explain why the named material is the most suitable choice v
for each of the products pictured.

Answers that indicate an understanding of the properties of cotton in relation
to the sleep suit should be awarded up to 2 marks based on:

e Cotton is absorbent — soaks up any moisture - spillages

e Easy care — fully washable — baby clothes need constant washing

Guidance to markers

Incorrect / no answer.

Brief description, lacks detail for example:
Cotton is absorbent.

More detailed description with understanding for example:
Cotton is absorbent and will soak up moisture keeping baby comfortable.

Answers that indicate an understanding of the properties of jute in relation to
the bag should be awarded up to 2 marks based on:

¢ Re-useable shopping bag made from a sustainable source.

e Eco-friendly product, jute is eco-friendly too

e Bio-degradabile if it goes to landfill

e Very strong and hardwearing fibre — high tenacity

Guidance to markers

Incorrect / no answer.

Brief description, lacks detail for example:
It's a strong hardwearing material.

More detailed description with understanding for example:
As it’s for a bag it will need to be strong and hardwearing to with stand the
use it will get as a re-useable shopping bag.
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(ii)

Explain why the construction method used to make the
material for each of the products pictured above is the most v
suitable.

Answers that indicate an understanding of the characteristics of knitting in

relation to the sleep suit should be awarded up to 2 marks based on:

¢ Knitted fabrics are more comfortable to wear — softer next to skin.

e Khnitted fabrics have stretch characteristic adding to comfort.

o Knitted fabrics are warmer to wear as air is trapped in air pockets created
by loops in knitting keeping body warmer.

Guidance to markers

Incorrect / no answer.

Brief description, lacks detail for example:
Knitted fabrics can stretch around the body adding to comfort.

More detailed description with understanding for example:
As knitted fabrics stretch to fit around the body, they are less restrictive and
more comfortable to wear.

Answers that indicate an understanding of the characteristics of weaving in
relation to the bag should be awarded up to 2 marks based on:

e Woven materials have more stability.

They retain shape and don’t distort easily.

They give structure to products.

If cut they won'’t fray and fall apart — making materials more durable.

Guidance to markers
Incorrect / no answer

Brief description, lacks detail for example:
Woven materials keep their shape.

More detailed description with understanding for example:
Woven materials are stronger and keep shape ideal for the shopping bag.

© WJEC CBAC Ltd.






(b) | Anthropometric data would have been used to help develop
the sleep suit and shopping bag. Explain why primary
research would be used to gather this information.

Answers that indicate an understanding of primary research should be

awarded up to 2 marks based on:

Anthropometrics is about sizes and dimension in relation to products.

e This data needs to be collected first hand to ensure accuracy of the
information.

e Primary research would gather very specific measurements that the
designer would need to develop the products.

e Unreliable to use secondary sources of information.

Guidance to markers
Incorrect/no answer.

Brief description, very little detail for example:
Primary research is about finding out the anthropometric data you need
yourselfffirst hand.

Some detail with understanding of primary research for example:
Primary research is about finding out the anthropometric data you need
yourself which is far more reliable than using someone else’s information.

10
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(c)

The sleep suit is available in a range of sizes whilst the
shopping bag is one size. Analyse the use of anthropometrics v
in developing both products.

10

Answers that indicate an understanding of anthropometrics and where

answers are supported with logical lines of reasoning should be awarded up

to 10 marks based on:

e Knowledge and understanding that anthropometrics is based on average
human measurements to give standard sizes.

¢ |t allows designers to develop products that fit as intended and allow for
the products to be used/ worn comfortably and are fit for purpose.

Sleep suit:
e Average height of babies from birth to 2/3 years approx.

e Allows for the development of shorter/taller than average babies
compared to ages in months/years

e Specific sizes: neck, wrist, ankle circumferences, torso/body
circumference and length, arm lengths, leg lengths, feet sizes.

e Depth of armholes need to be considered so that arms can move freely
without restriction.

e Sizes need to consider movement of babies in sleep and awake —
movement without restriction.

e Measurements also need to consider the nappy the baby will be wearing.

Shopping bag:

¢ Hand sizes to develop the size and shape of the handle.

o Average height of people to determine average length of bag — people
need to carry the bag above floor/ground level.

¢ Main body of bag size in relation to size of potential products to be
carried.

NB: Candidates need to show understanding of the specific issues relating
to both products.

Each anthropometric point identified should be fully explained in terms of
user/comfort/fitness for purpose.

Candidates may refer more to the sleepsuit than the bag but both products
need to be considered for full marks.

11
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Guidance to markers

No answer or no relevant issues described or discussed.

Simple understanding of anthropometrics.

Little, if any, understanding of the application of relevant data in one
product.

Quality of Written Communication is limited, presenting material with
limited coherence, many errors of grammar, punctuation and
spelling.

1-2

Some description of anthropometrics.

Little understanding of the application of relevant data to the
products, may apply some knowledge to one product.

Quality of Written Communication is basic, presenting occasionally
appropriate material with some coherence, some errors of grammar,
punctuation and spelling.

Description and understanding of anthropometrics.

Some understanding of the application of relevant data to the
products, may apply more knowledge both product.

Quality of Written Communication is good, presenting mainly
appropriate material in a coherent manner, few errors of
grammar, punctuation and spelling.

5-7

Clear and detailed understanding and description of
anthropometrics.

Clear and detailed understanding of the application of relevant data
to the products, detailed knowledge applied both products.

Quality of Written Communication is excellent, presenting wholly
appropriate material in a coherent and logical manner, hardly any
errors of grammar, punctuation and spelling.

8-10

Total

20

12
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4. The success of fashion and textiles products depends on the careful selection of materials
used to manufacture the product.

(a () Explain why the named material is the most suitable choice for each of the products @

pictured. _ 2 x12]
Knitted Cotton sleep suit Woven Jute shopping bag
Named Material: Cotton Named Material: Jute
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(i)  Explain why the construction method used to make the material for each of the

products pictured above is the most suitable. 2 x[2]
Material construction: Knitted Material construction: Plain weave @
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Sticky Note

This question requires candidates to consider the most appropriate property of the fibre for the named product. The function of the product should be considered. Listing properties does not answer an explain question. Absorbent is correct but no reason is given as to why. 
The bag is a sustainable bag therefore jute is used. It is an environmentally friendly product therefore jute suits this. It is also strong so would be awarded a mark
2 marks 



Sticky Note

The way a fabric is constructed affects what it can be used for. 
Knitting in this case would keep the baby comfortable as stated, and its not harsh on their skin. So an appropriate answer. Woven for jute again, is strong but the answer is a repeat of the one above related to the fibre. There is no specific body of knowledge demonstrated here, but it would allow you to carry many products on the bag. 
3 marks
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(b)  Anthropometric data would have been used to help develop the sleep suit and shopping o
bag. Explain why primary research would be used to gather this information. [2]
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(c) The sleep suit is available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written

communication.
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Sticky Note

The critical point is that primary research, conducted yourself is more reliable. Secondary from other sources cannot be guaranteed accurate.
2 marks



Sticky Note

There is clearly some  understanding of anthropometrics relating to the sleep suit and an acknowledgment of different sizes. This could have been developed to consider body length, circumference of the neck, sleeve and leg lengths etc. The question is repetitive inn part. There is less discussed about the bag. Although only one size is needed, users hand measurements would have been considered for the handle, as well as the depth of the bag for the average person to carry without it dragging on the floor. There is more to a bag design that one size. 
4 marks










used to manufacture the product.

@ ()

pictured.

Knitted Cotton sleep suit

4. The success of fashion and textiles products depends on the careful selection of materials

Explain why the named material is the most suitable choice for each of the products
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Woven Jute shopping bag
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Named Material: Jute
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Sticky Note

Cotton is not necessarily soft, it depends on the construction. This part of the question is only about the suitability of the fibre and its purpose in the sleep suit. It does absorb perspiration and would keep the baby at a suitable temperature. This gains the credit for this part. 
For jute, strength is clearly explained.
4 marks 




Sticky Note

Knitting does stretch and adds to the comfort of the wearer. The reason is clearly stated. 
There is repetition in the answer from the previous answer about the jute bag. It is also a description of weaving which is not needed. It is generally considered a strong weave so some credit for this. 
3 marks





(b) Anthropometric data would have been used to help develop the sleep suit and shopping
bag. Explain why primary research would be used to gather this information. - 12]
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(c) The sleep suitis available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]
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Sticky Note

The response does not fully answer the question but as it refers to ensuring a good fit some credit was given. Primary research  is more focused and carried out specifically to find information you need. Secondary research conducted by other parties is not as reliable. 
1 mark



Sticky Note

The response includes appropriate references to both the sleepsuit and the bag. Various important points are explained for both with clear evidence of reasoning. 
10 marks
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4. The success of fashion and textiles products depends on the careful selection of materials
used to manufacture the product. '

(a) (i) Explain why the named material is the most suitable choice for each of the products

pictured, 2 x[2]
Knitted Cotton sleep suit Woven Jute shopping bag

Named Material: Cotton Named Material: Jute @
Explanation: Lattatn i L0 btk EXplanation: .7 tad......d e Gl cad G AR
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(i) Explain why the construction method used to make the material for each of the
products pictured above is the most suitable. 2x1[2]

Material construction: Knitted Material construction: Plain weave E@j
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Sticky Note

Some of the references to cotton are correct but misplaced in the context of this question.  Listing several properties does not explain. To gain maximum credit, the most important property should be referred to such as easy to care/ absorbent to soak up spillages. 
Jute for the bag is more clearly explained and gained the credit in this answer. 
2 marks 



Sticky Note

Listing different properties does not explain anything. Knitted fabric can be warm and cosy, and is the part of the answer that is credited with a mark.
Reference to weaving for the bag is incorrect and does not answer the question.
1 mark






Examiner

(b) Anthropometric data would have been used to help develop the sleep suit and shopping
bag. Explain why primary research would be used to gather this information. [2]
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(c) The sleep suit is available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written
communication.
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Sticky Note

The answer given does not explain why primary research in particular would be used to gather information. It is more reliable as you conduct it yourself whilst secondary research is done by a third party and cannot be relied upon as being accurate. The answer is a description of what would be done which is incorrect. 
0 mark



Sticky Note

There is ample reference to the different sizes that would be needed for the sleepsuit. There is a good level of understanding in evidence. Less is discussed about the bag and only a superficial reference hence the mark awarded. Not all points are fully analysed. 
8 marks










4. The success of fashion and textiles products depends on the careful selection of materials

used to manufacture the product.

@ ()

pictured.

Knitted Cotton sleep suit

Explain why the named material is the most suitable choice for each of the products

2 x[2]

Woven Jute shopping bag

Named Material: Cotton

Explanation: ...

Named Material: Jute

Explanation: ...

(ii)

Explain why the construction method used to make the material for each of the
products pictured above is the most suitable.

2 x 2]

Material construction: Knitted

Explanation: ...

Material construction: Plain weave

Explanation: ...
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Examiner
[
(b) Anthropometric data would have been used to help develop the sleep suit and shopping o

bag. Explain why primary research would be used to gather this information. 2]

(c) The sleep suit is available in a range of sizes whilst the shopping bag is one size. Analyse
the use of anthropometrics in developing both products. [10]

Marks will be awarded for the content of the answer and the quality of written
communication.
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5. The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear o

collection for one summer season.

(a) (i) Place atick () in one box below o indicate the most suitable scale of production
for the seasonal top. 1

‘One-off Production

\Eatch Production _ / _ \

(i) Describe one advantage and one disadvantage to the consumer-of buying popular
ready to wear fashionable clothing like the Bardot top shown above.

Disadvantage:

LSy S NS V?: ...... YO c;@j\o,\,éy ..........

A oL /bmez§[2]
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. Examiner
(b) The manufacturer followed pattern markings when laying out the templates on the material o

to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.
W\Q]

P \Y
\/ V‘/

T

e

(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. [2]

(i) The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]

(c) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the
benefits to the wearer of using the blended material to make the summer top. [5]
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(d) Elastic has been used in a number of places to shape the Bardot top as shown below.

f shaping the top outlining the benefits to the
(5]

L
Evaluate the use of elastic as a method o
wearer.
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5.

10

The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear
collection for one summer season.

(@)

(i) Place a tick (/) in one box below to indicate the most suitable scale of production
for the seasonal top. 1]

One-off Production

Batch Production v

(i) Describe one advantage and one disadvantage to the consumer of buying popular
ready to wear fashionable clothing like the Bardot top shown above.
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1
(b) The manufacturer followed pattern markings when laying out the templates on the material
to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

[1]

Si/mbolz .
K T 4

(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. 2]

(i)  The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]
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(c) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the

benefits to the wearer of using the blended material to make the summer top. [5]
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(d) Elastic has been used in a number of places to shape the Bardot top as shown below.

Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
wearer. (5]
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5. The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear

10

collection for one summer season.

@

(i) Place a tick (/) in one box below to indicate the most suitable scale of production
for the seasonal top. 11

| One-off Production

Batch Production \/

(i) Describe one advantage and one disadvantage to the consumer of buying popular
ready to wear fashionable clothing like the Bardot top shown above.
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Examiner

: I
(b) The manufacturer followed pattern markings when laying out the templates on the material o

to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

[1]

Symbol: ;/\

V
(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. 2]
90% ............. (SR 10 =7 AN O V=R P SN < N LD CAAL Lo Tl B
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(i) The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]
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(¢) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the

benefits to the wearer of using the blended material to make the summer top. [5]
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Elastic has been used in a number of places to shape the Bardot top as shown below.
Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
(3]

(d)

wearer.
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Question 5

The girl pictured below is wearing a Bardot top, a very popular style | AO3 | AO4 | Mark
from a ready to wear collection for one summer season.
(a) Place a tick (v) in the box below to indicate the most v 1
0] suitable scale of production for the seasonal top.
Guidance to markers
Incorrect/no answer
Only one acceptable answer: BATCH production
(i) Describe one advantage and one disadvantage to the
consumer of buying popular ready to wear fashionable v 4
clothing like the Bardot top shown above.
ADVANTAGES
Answers that indicate an understanding of the advantages of popular
clothing should be awarded up to 2 marks based on:
¢ Readily available in a range of sizes — possible to find one that fits you.
e Latest styles available — on trend.
Fashion statement — being up to date with latest looks and style — good
for self-esteem.
o Affordable fashion.
Guidance to markers
Incorrect/no answer. 0
Brief description for example: 1
Easy to purchase a style that is on trend.
Some detail in explanation for example:
The latest trends are readily available in store ensuring you can easily keep 2
up to date and wear the latest looks.
DISADVANTAGES
Answers that indicate an understanding of the disadvantages of popular
clothing should be awarded up to 2 marks based on:
o Popular clothes in latest styles may sell out fast — you miss out.
e Lots more people wearing same top as you — no individuality.
¢ Not a bespoke fit, style may not suit some body shapes.
Guidance to markers
Incorrect/no answer. 0
Brief description for example:
. . 1
Everyone wearing the same thing.
Some detail in explanation for example: 5

No individuality as loads of people could be wearing the same top as you.

13
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(b) Draw the symbol in the box below that represents the v
() straight of grain instruction.
Guidance to markers
Incorrect/no answer.
Only one acceptable answer: < —
(i) Explain how you would follow the straight of grain instruction v
when laying out templates on material.
Answers that indicate an understanding of the straight grain should be
awarded up to 2 marks based on:
e The grain on materials runs along the length following the warp yarns.
e The grainline is parallel to the selvedge edge.
¢ The double headed arrow on templates must follow the direction of
warp threads and selvedge edge.
Guidance to markers
Incorrect/no answer
Brief description lacks detail for example:
The arrow on templates follows the warp yarns.
Some understanding of the straight of grain instruction for example:
The templates are laid out with the arrow symbol running parallel to the
selvedge edge.
(i) | The pattern on the material used to make the Bardot top has

one-way directional print. Explain how this affects the way v
you cut out the material to make the top.

Answers that indicate an understanding of one-way directional print should

be awarded up to 2 marks based on:

e The pattern on the material goes in an obvious one direction — it is not
an all over pattern that would not matter how its cut.

¢ You cannot tessellate/turn pattern templates around in opposite
directions to save material.

e Patterns might need to be matched on a side seams — mismatching
looks poor/affects quality and overall impression.

¢ If templates are not cut in the same direction the patterns on separate
parts of the top will be in opposite directions — impacts on aesthetics of
finished product — looks odd!

Guidance to markers

Incorrect/no answer.

Brief description lacks detail for example:
All templates must be cut in same direction.

Some understanding of a one-way directional print for example:
All templates must be laid out and cut in same direction so that the pattern
on the top matches and is also going in the same direction.

14
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(c)

The Bardot top has been made from a polyester and cotton
fibre blend. Evaluate the benefits to the wearer of using the v
blended material to make the summer top.

Answers that indicate an understanding of the blended material and show
evidence of appraisal should be awarded up to 5 marks based on:

o Cotton: absorbent; comfortable to wear, reasonably strong, creases.
Polyester: durable, strong, good elasticity, crease resistant, easy care.

¢ Combining the properties of both fibres makes a new material with its
own unique properties.

e It combines the best properties for a superior material which can mean
improved performance properties; comfort during use; improved
aftercare of fabric.

e Can reduce the price of the material which can be passed on to the
consumer.

Candidates will need to demonstrate knowledge of the individual properties
of the named fibres to illustrate what the specific improvements would bring
to the new blended fibre/material.

Guidance to markers
Incorrect/no answer.

Brief description of the fibre/material blend but little detail in the improved
gualities of the new material for the top. Little reference to the wearer. Little
evidence of appraisal or judgement.

More detailed description of the fibre/material blend, with some explanation
and detail of the improved qualities of the new material for the top. Blends
not fully explained. Some reference to the wearer. Some evidence of
appraisal and/or making a judgement.

Clear and detailed description of the fibre/material blend with detailed
explanation of the improved qualities of the new material. Full explanation
of the combined properties with clear reference to the wearer. Clear
evidence of appraisal and/or judgements.

15
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(d)

Elastic has been used to shape the Bardot top as shown
below. Evaluate the use of elastic as a method of shaping v
the top outlining the benefits to the wearer.

Answers that indicate an understanding of elastication in clothing to provide
shape and show evidence of appraisal should be awarded up to 5 marks
based on:

o Elastication is a method used to draw in material to create fullness and
allow clothing to fit the contours of the body.

o The elastic is stretched and stitched over the area to be gathered when
the elastic is released it draws in material and creates gathers.

e This method is comfortable to wear as it is non-restrictive, won’t dig in
and will stretch as and when needed.

o It creates soft gathers and easily allows for movement.

e In atop like the Bardot top the wearer can place the neckline where it
feels comfortable regardless of her shape and style — adaptable.

e The cuffs will fit all widths of arm — comfortable.
Shirring elastic as in Bardot top is a design feature — stylish, functional
and looks good.

Guidance to markers
Incorrect/no answer.

Brief description of elastication but little reference to its use in shaping
clothing; little reference to the top or benefits to the wearer. Little or no
evidence of appraisal or judgement.

More detailed description of elastication with some reference to its use in
shaping clothing; some reference to the top and benefits to the wearer.
Some evidence of appraisal and/or judgement.

Clear and detailed description of elastication with detailed reference to its
use in shaping clothing — clear understanding. Detailed reference to the top
and the benefits to the wearer. Clear evidence of appraisal and
judgements.

1-2

3-4

Total

20
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5.

10

The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear
collection for one summer season.

(@)

(i) Place a tick () in one box below to indicate the most suitable scale of production
for the seasonal top. 1

‘One-off Production

\Eatch Production _ / _ \

(i) Describe one advantage and one disadvantage to the consumer-of buying popular
ready to wear fashionable clothing like the Bardot top shown above.

Disadvantage:

LSy S NS V?: ...... YO c;@j\o,\,éy ..........
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Sticky Note

Batch production is correct.
1 mark



Sticky Note

Only one advantage is needed and must be fully described to gain the 2 available marks. Credit is given to the summer top being on trend. Other points are not relevant.
1 mark



Sticky Note

A more appropriate disadvantage would be that many people might wear the same top, not unique. There is a repeat of the question stem and it could realistically be worn for more than a few times. 
0 mark. 





1

(b) The manufacturer followed pattern markings when laying out the templates on the material
to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

.BW\Q

P \Y
2 o

]

"

(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. [2]

...... llwsupk@tptwﬁﬂxapgﬁ%e/?\

u\jD ..................................................................

(i) The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]
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(c) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the
benefits to the wearer of using the blended material to make the summer top. [5]
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Sticky Note

The response does not fully answer the question. All templates should be laid in the same direction to ensure the print is going in the same direction on all parts of the product - not mismatched.
0 mark



Sticky Note

The answer is unclear, it is not explained. The double ended arrow should be parallel to the selvedge edge of the material.
0 mark



Sticky Note

This symbol represents 'place to a folded edge.' Straight of grain is a double ended arrow. 
0 mark



Sticky Note

Whilst the answer is mostly descriptive, the properties of both cotton and polyester have been included with the combined benefits. Reference to appraising the benefits is however missing  - evaluate question.
3 marks
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(d) Elastic has been used in a number of places to shape the Bardot top as shown below.

Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
[5]

wearer.
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Sticky Note

The answer is mostly descriptive and whilst correct does not effectively evaluate the use of elastic as a means of shaping the product. Much of the reference is given in the stem of the question ie a method of shaping the top.
3 marks
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The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear
collection for one summer season.

(a) (i) Place a tick (/) in one box below to indicate the most suitable scale of production
for the seasonal top. 1]

One-off Production

Batch Production v

(i) Describe one advantage and one disadvantage to the consumer of buying popular
ready to wear fashionable clothing like the Bardot top shown above.

Advantage: Thewe ... @ pwgf ....... Clodling. .. an..... Condidved,.. . 140 hien k. ..
gl oa...... ... ag‘,...%m......mw ........ \ fﬁ:ﬁc" ....... it ... i .......
ﬁ‘w!;'.rfdim ......... Y TI 7L T S 5

Disadvantage: ‘ff?@ ........ M., W vadly...... EOY..... LA I /61 ..........
%f”fmc>mm$5l£79¢w .......... The...... Prduct... Prbalely.. wondan 't bs...
Wty L0 F Do omld... 00t o e Thmein.. Ok
Or-  Vvoplath  Fuyde Jud emlye 2]
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Sticky Note

A correct answer.
1 mark



Sticky Note

The advantages is relevant and clearly explained.
2 marks
Seasonal products are not necessarily poorly made. Wearing fashionable clothes could mean someone else wearing the same thing. 
0 mark






1
(b) The manufacturer followed pattern markings when laying out the templates on the material
to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

[1]

Si/mbolz .
K T 4

(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. 2]

(i)  The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]

ol T At 0L T il phiceRH SR AN Prinde i

fbac.. Yo LA, Ta.... OO M.
Y Gt A{}
_ p

(c) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the

benefits to the wearer of using the blended material to make the summer top. [5]
..... Cotton....i5..a .. Cobd  nataaal... s 2ot s Pespiadlon. and. sdopaathe. .
]%Eﬁﬁamx’\ﬁzzj}WﬂMVWJjﬁMW¢Jﬁf‘;¢%VéﬂVl}i’ﬂf"w@ﬂmmﬁz .... i
Cetten > pho 5&?;7:;:@7 ...... amad.... doat bt LA A Ak heri........
g Polyeallr is. Creanc. xdistank. . am ng.... el iy
3Gl ol A0, Jui .. JrCRy.... 0. 0L ... D T
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Sticky Note

A correctly drawn symbol.
1 mark



Sticky Note

This answer fully explains  the straight of grain rule - the arrow should line up and be parallel to the selvedge edge.
2 mark



Sticky Note

The explanation is clear and worthy of credit.
2 marks



Sticky Note

The properties of both cotton and polyester are listed but there is no mention of the combined benefits. There is no evidence of appraisal for an 'evaluate' question.
3 marks
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(d) Elastic has been used in a number of places to shape the Bardot top as shown below.

Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
wearer. (5]
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Sticky Note

There is clearly some evidence of understanding in this answer but it is repetitive in part as well as repeating the question stem ie shaping the top. Appropriate points have been made but does not extend beyond that. There is some evidence of appraisal,essential  for an 'evaluate' question.
3 marks










5. The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear

10

collection for one summer season.

@

(i) Place a tick (/) in one box below to indicate the most suitable scale of production
for the seasonal top. 11

| One-off Production

Batch Production \/

(i) Describe one advantage and one disadvantage to the consumer of buying popular
ready to wear fashionable clothing like the Bardot top shown above.

Advantage: ../ ... 4. Se2d ... o s Dfo T LS GG
Aaiad el e (G coad.. 0.1.44./..,’..[).5...;14{1.’)1@(.., ..... ) AN T
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Sticky Note

The answer is correct.
1 mark



Sticky Note

Reference to being in fashion is credited. This should be developed for an additional mark for example, this is very important to some people's self esteem. 
1 mark 

This question is about the availability of popular styles. This point has been over-looked. If you are wearing a popular style then so are many others, not unique therefore a disadvantage.
0 mark
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(b)  The manufacturer followed pattern markings when laying out the templates on the material
to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

[1]

Symbol: ;/\

V
(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. 2]
90% ............. (SR 10 =7 AN O V=R P SN < N LD CAAL Lo Tl B
IL/’\;. ............ /V\/l:l/¢l, .............. /700 WS /QLC/{/) .................. lf’.k(ﬂ_ ............ //fj/?/ ..................
.Lz&‘{,gj ....... Gl Lot LD L Cotr L Bk oy LR 2 o V=7 4- N VS -

7 fra” oo oefe prenrd f 7 ot .
(i) The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]
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(¢) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the

benefits to the wearer of using the blended material to make the summer top. [5]
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Sticky Note

The symbol is correct but usually presented horizontally.
1 mark



Sticky Note

It is unclear what the right way up means therefore it cannot be credited. 
0 mark



Sticky Note

There is some understanding within the question but it does lack clarity. 
1 mark



Sticky Note

There is a list of properties for both polyester and cotton. The combined properties are also referenced. However as an 'evaluate' question this has not been fully explored, it is a little descriptive  and lacking further explanation, therefore not quite full marks.
4 marks
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Examiner
(d) Elastic has been used in a number of places to shape the Bardot top as shown below. on
Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
wearer. [5]
..... {C/ij’/ch/’)&wbféﬂw)ﬁ(%cuﬁ,/nuhadof
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Sticky Note

Two points made: helps keep the top in place and reference to aesthetics. There is no evaluation of the elastic.
2 marks
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5. The girl pictured below is wearing a Bardot top, a very popular style from a ready to wear
collection for one summer season.

(@ (i) Place atick () in one box below to indicate the most suitable scale of production
for the seasonal top. 1]

One-off Production

Batch Production

(i) Describe one advantage and one disadvantage to the consumer of buying popular
ready to wear fashionable clothing like the Bardot top shown above.

AQVANTAGE: ...
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(b) The manufacturer followed pattern markings when laying out the templates on the material
to make the Bardot top.

(i) Draw the symbol in the box below that represents the straight of grain instruction.

[1]

Symbol:

(i) Explain how you would follow the straight of grain instruction when laying out
templates on material. 2]

(iii)  The pattern on the material used to make the Bardot top has a one-way directional
print. Explain how this affects the way you cut out the material to make the top. [2]

(c) The Bardot top has been made from a polyester and cotton fibre blend. Evaluate the
benefits to the wearer of using the blended material to make the summer top. [5]
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Examiner
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(d) Elastic has been used in a number of places to shape the Bardot top as shown below. o

Evaluate the use of elastic as a method of shaping the top outlining the benefits to the
wearer. (3]
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The two prototype cushions covers shown form part of a new range of soft furnishings.

Cushion Cover A Cushion Cover B

(a) (i) Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

X Qﬁt?ixj A~e [crmse,

clued (&,
[’:)‘Q@’I‘Dlﬁi ....... AL

S
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(i) The designer wants to add a single pink flower design onto Cushion Cover B as
shown. _

Describe how to make a block and the process of block printing the flower. [4]

Flower design

e
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(v) State the measurement for the standard seam allowance used in-textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: QCJ"“‘ ................................................... [1]
Reason: OKMQ\AJ@'\O ...... O ASE ERWRX J e Seu

ond bhe oble ke ioterloc o
i [
(b) The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the
covers.

( : O CUSe e Do
LCaSC Cou be oS hed o5, Ly [1]
Reason 2: QI imA (S, ..bi& Zz{ O@_OQS o OK‘LQ{:)Q ok

[]

(c) The materials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

() Name afinish that will prevent marks from permanently spoiling the cushion covers.

Finish: .. Sk Lo T R R G e [1]

(i)  Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. 5]

bie_c,uﬁ ..... x/cm CRAS IO T
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6.

13

The two prototype cushions covers shown form part of a new range of soft furnishings.

Cushion Cover A Cushion Cover B

Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

(@)

—
~—

| Stitch type: Zyzotﬁéﬁ’fd\ .................................. [1]

| Flower Centre: .....[2%az ... beaets o 1]

(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

Reason 1: %>&A3Wr@) ......... al...Q f ....... #ZU gﬁé‘&f~’€xf> ...............
ot G oG ﬂﬂéfm&% ............ [ioe. gme Dhaet
(1]

Reason 2: .. lpder Codbing.. on.. Sandbalic.. /énl ...... ALY ...,
/}Z\M ........ ﬂv .......... ‘{dﬁt’” ...... (AL ... f N — i
Reason 3: ... /Oh ........ Dy[ ............ % Wy it . cut_of ..
%M ......... Dawuc... e 4 N A
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(iiiy  The designer wants to add a single pink flower design onto Cushion Cover B as
shown.

Describe how to make a block and the process of block printing the flower. [4]

Flower design

...... Qi with..... O Plaia... o oF bhod. tewd.. Q... [0s 2. farom.....

daw._amd...... Cue.... Tha.. Kidid.... . Aeoiga... ouk . and... o8k .. ot
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......................................
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(iv) Cushion Cover A needs a piped edge the same as that seen on
Cushion Cover B. Using notes and sketches explain how you would make a fabric

covered piecewg piping and insertjfg into the edge seam. [6]
el N R
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(v) State the measurement for the standard seam allowance used in textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: ... 15(4/» ..................................... 1]
Reason: .. H. Dhaid b Lom)"‘”’f‘ﬁ ....... # 0/9[“4?) ........ Z% CaMm I the....
sﬁ&mquc‘“:""“H ..... wdonsitdent. A e Pilloe 2 owldnt.. e Al
N D2 00wt fin Vgt i niuésions [1]

(b)  The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the
covers.

Reason 1: .. Ax...if.. 5. . sl ble jd. Aeean' . raca. TR o eram

fare 59 b“‘Art‘z?io”{‘:j o ﬁtﬁ/f foc it G ot Pl ceet Present [1]

(¢)  The matetials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

(i)  Name a finish that will prevent marks from permanently spoiling the cushion covers.

Finish: ....[€ FEOVL e [1]
(if)  Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. [5]
To....Covapuct A Shirvieage. ot 2 dWinte  toun ..
G Dampli..of .. Ailternt. Iaduiofs. da... cus.. o abt. B The
Do Bize.. tond....Rcord . o pamch  2ach D ple. Dy,
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Examiner
The two prototype cushions covers shown form part of a new range of soft furnishings. onty
Cushion Cover A Cushion Cover B
(a) () Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.
(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.
Reason 1: .. PN it Lol H, P CY N RS A,
LB kGl Ao AR I O
\ (1]
Reason 2: .. Lot S, G Lol AR LA Gt b FYNA oo Jofo b QB
O S O TR SO f[/bff?',f’)::j I s W s STV TO T SO UIP SO POU PP I R SIS P
]
REASON 3! ol Coldh i ColtT s It B0t F 4L ERD b
..... }Odﬂ’
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Examiner
I
(i) The designer wants to add a single pink flower design onto Cushion Cover B as o
shown.
Describe how to make a block and the process of block printing the flower. [4]

Flower design

N0 WO o 7 T S [ VR o oS L4l 96 AT D
and.. Clndan. Cindh L(/C’G@'é;ﬁ?@— ..... Ve P o Ve AN A S A T > T O

Lo /e Feaboric it ) @ el O flolRer oleliop,
(iv) Cushion Cover A needs a piped edge the same as that seen on
Cushion Cover B. Using notes and sketches explain how you would make a fabric
covered piece of piping and insert it into the edge seam. 6]

590” snlodorroo A fRLAAL U i Y A SV N YAR R B LLOCL S
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[1]

(b)

15

(v) State the measurement for the standard seam allowance used in textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: ... ) RS 0 40 [1]

Reason: .45 5. [ SN . W IR = AR T L= e W T W SO 2 SO St 0L RO

SO0 N2 ST - NN A~ 4 NE TN S A = N~ R =X W = - N G0 AT
- . ;‘A v

Ao s gen  cddaen 3= 0200 fe e ptes) [1]

The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the
covers.

The ma’térials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

(i) Name a finish that will prevent marks from permanently spoiling the cushion covers.

S N Ve W, [1]

(i) Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. [5]
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Question 6

AO3 | AO4 | Mark
(a) Label the picture to show the correct machine stitch type and
(1) embellishment in the centre of the flowers which have been v 2
used on Cushion Cover A.
Guidance to markers
Incorrect / no answer 0
Only acceptable answers in this order:
Satin stitch (accept zig-zag)
Beading 1
(i) The little flowers on Cushion Cover A have been made on
the laser cutter. Give three reasons for using the laser cutter v 3
to make the flowers.
Answers that indicate an understanding of using a laser cutter to make the
flowers can be awarded one mark for each reason based on:
¢ Uniform size and shape.
¢ No frayed edges as they are sealed.
¢ Intricate shape cannot be done by hand or other method.
¢ Efficient and time saving to cut so many small parts.
Guidance to markers
Incorrect/no answer. 0
Relevant reason for example:
When materials is cut on the laser cutter the edges on each of the flowers 1

will not fray.

17

© WJEC CBAC Ltd.






(iii) Describe how to make a block and the process of block v
printing the flower.

Answers that indicate an understanding of the block printing should be

awarded up to 4 marks based on:

¢ A flower shaped block could be created from a Styro foam block —
candidate may refer to creating a block shape using laser cutter.
Accept other methods that would enable a block shape to be made and
credit any appropriate materials that would function in this process.

e Fabric paint is applied to the face edge of the block — usually applied
with a roller for a smooth application of the paint; accept painted on.

e The block is pressed down firmly onto the material.

¢ Remove the block and the flower is printed.

Guidance to markers
Incorrect/no answer

Brief description, very little detail for example:
Cut out a flower shape from foam.

Some detail with some understanding of block printing for example:
Cut out a flower shape from foam, apply some paint and stick it on the
material.

A more detailed explanation with clear understanding of block printing for
example:

Use a laser cutter to create a block shape, this could be made from MDF.
Apply some paint evenly to the block and place it face down on the
material.

Fully detailed explanation with clear understanding of block printing for
example:

Use a laser cutter to create a block shape, this could be made from MDF.
Apply some paint evenly to the facing side of the block using a roller and
place it face down on the material. This creates the flower shape on the
material.

18
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(iv)

Cushion Cover A needs a piped edge the same as that v 6
seen-on Cushion Cover B. Using notes and sketches
explain how you would make a fabric covered piece of piping
and insert it into the edge seam.
Answers that indicate an understanding of constructing piping and inserting
into a seam should be awarded up to 6 marks based on:
e Bias cut strips over fabric need to be cut sufficiently wide enough to
cover the cord.
¢ Wrap the bias strips around the cord and stitch close to the cord to hold
in place.
o Use a specialist piping foot or one sided foot to get as close to the
piping cord as possible.
¢ Place the new piping on the edge of the material, right side of material
facing; seam allowance to outside edge, cord inside;
e Stitch in place.
e Place other piece of fabric on top right sides inside and stitch in exactly
same place as previous row — sandwiching piping cord in the seam.
Guidance to markers
Incorrect/no answer. 0
Brief description/notes, one or two diagrams with little detail of the named 1-2
process. Limited knowledge of constructing the piping.
More detailed description, with some explanation of the named process
included alongside basic sketches, some knowledge of constructing the 3-4
piping.
Detailed descriptions and explanation, including clear understanding of the
named processes and constructing the piping. Clear annotated sketches 5-6

Logical sequence.

Answers will vary depending on the sketches/method used. Assess the
work as a whole, look for the key points listed above, and apply marks for
notes and sketches based on above mark descriptors.

19
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(v)

State the measurement for the standard seam allowance
used in textiles and give a reason why it should be v
consistently applied when making the cushion covers.

Answers that indicate an understanding of the standard seam allowance
should be awarded up to 2 marks based on:

e Standard seam allowance: 1.5cm (15mm)
This will ensure all parts go together as intended — if one part is out of
tolerance impacts of pieces coming together elsewhere.

e Seams need to be matched up with other seams on another piece — if
one is out these won’t match.

¢ Will impact on quality and size of product.
Internally it will look much neater — can impact on external appearance.

Guidance to markers
Incorrect/no answer.

Only acceptable answers for standard seam allowance: 1.5cm (15mm).

An appropriate reason for example:
So all parts fit together and you get the shape you want.

(c)

Describe two reasons for using an invisible zip inserted into v
the side seam to fasten the covers.

Answers that indicate an understanding of the advantages of an invisible
zip should be awarded up to 1 mark for each advantage.

Guidance to markers

Incorrect/no answer

An appropriate reason with some detail for example:
¢ Itis hardly visible as it inserted into a seam.

or
e Itis a more expensive looking finish — aesthetically better.
or

e ltis less likely to cause discomfort to the user when resting on the
cushion.
or

e As the teeth are on the inside of the zip its looks better.

20
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(d)
()

Name a finish that will prevent marks from permanently v
spoiling the cushions.

Guidance to markers
Incorrect / no answer.

Only acceptable answer:
Stain resistant finish / Scotch guard/Teflon

(ii)

Describe a test that the designer could carry out to compare
the shrinkage rates of materials in order to select the most v
suitable one for the cushion cover.

Answers that indicate an understanding of a suitable test for shrinkage

should be awarded up to 5 marks based on:

e Cut out several pieces of material in all fabrics to be tested - all must be
the same size and shape. Keep a control piece or record the size and
shape the pieces.

¢ Wash all the pieces at the same temperatures and time — same cycle.
This process can be repeated several times and at different cycles and
temperatures.

e After washing compare each piece to the control piece or re measure
each piece.

e Any piece unaffected by washing does not shrink therefore is suitable
for the cushion covers or demonstrating the least shrinkage is the best
one for the covers.

Guidance to markers
Incorrect / no answer.

Brief description, very little detail for example:
Wash several pieces and compare the results.

Limited in detail but some understanding of shrinkage testing for example:
Wash several pieces of the same size and compare the results after
washing a few times.

A more detailed level of understanding of shrinkage testing for example:
Cut out several same size pieces of fabrics in all the different types to be
tested, wash them all together in a suitable cycle, perhaps on different
cycles. Compare them after washing.

Detailed description of testing shrinkage with clear understanding for
example:

Cut out several same size pieces of fabrics in all the different types to be
tested, wash them all together in a suitable cycle, perhaps more than once
and on different cycles. Compare the results after washing with the control
piece or original sizes.

Full and detailed description clearly demonstrating good knowledge and
understanding of testing for shrinkage full for example:

Cut out several same size pieces of fabrics in all the different types to be
tested, wash them all together in a suitable cycle, perhaps more than once
and on different cycles. Compare the results after washing with the control
piece or original sizes. The one that keeps the original size or shows least
shrinkage is the best one to use.

Total

25
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6.

13

The two prototype cushions covers shown form part of a new range of soft furnishings.

Cushion Cover A Cushion Cover B

(a) (i) Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

X Qﬁt?ixj A~e [crmse,

clued (&,
[’:)‘Q@’I‘Dlﬁi ....... AL

S

© WJEC CBAC Ltd. (3602U10-1) Turn over.
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Sticky Note

Embroidery is not specific enough  therefore incorrect.
0 mark

'Beads 'is a correct answer.
1 mark



Sticky Note

3 appropriate answers worthy of credit.
3 marks
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(i) The designer wants to add a single pink flower design onto Cushion Cover B as
shown. _

Describe how to make a block and the process of block printing the flower. [4]

Flower design

e

..... Eiodckaﬁxﬁ/\ergk_&fﬁéewef
Lecbric

HOWQ{M%W ........ iz&@m‘t@ ....... e ...
o Se.. The blocicis.. fv\ggkabjdkegohﬁ

abter fhe Couse
Mﬁﬁmil«\egom .........
wfbb\mppcpusk

Examiner
only
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Sticky Note

The process is outlined although there is no reference to what the block would be made out of.
3 marks



Sticky Note

Although technically this method is not correct, there are elements that could work and have therefore been credited. It would give an appearance of piping. 
2 marks
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(v) State the measurement for the standard seam allowance used in-textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: QCJ"“‘ ................................................... [1]
Reason: OKMQ\AJ@'\O ...... O ASE ERWRX J e Seu

ond. be. oble ke ioterloC G i

(b) The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the

covers.
~Heor=X. PSST Tt Y /oW VNS \

( : O CUSe e Do
LCaSC Cou be oS hed o5, Ly [1]
Reason 2: QI imA (S, ..bi& Zz{ O@_OQS o OK‘LQ{:)Q ok

[1]

(c) The materials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

() Name afinish that will prevent marks from permanently spoiling the cushion covers.

Finish: .. St S S R G et [1]
(i)  Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. 5]

bie_c,uﬁ ..... x/cm CRAS IO T

Slf\gmitﬁok,tiﬁe ..... leasta,u@uv@( ..... fo <. VQ?L\Q ..............
P besi nolker ol e ude

END OF PAPER
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Sticky Note

Standard seam allowance is 1.5cm
0 mark

The reason for a correct and consistent application of the 1.5 allowance is to ensure all parts fit together as intended. 
0 mark




Sticky Note

Reason 1 is not specific for the use of an invisible zip.
0 mark
Reason 2 is a suitable suggestion and gains credit.
1 mark



Sticky Note

(i) Stain resistance is correct.
1 mark
(ii) There is some evidence of understanding worthy of credit - the basic outline is evident. Technical details are lacking: the importance of  control fabrics, various cycles and repetition to ensure accuracy. 
3 marks










6.

13

The two prototype cushions covers shown form part of a new range of soft furnishings.

Cushion Cover A Cushion Cover B

Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

(@)

—
~—

| Stitch type: Zyzotﬁéﬁ’fd\ .................................. [1]

| Flower Centre: .....[2%az ... beaets o 1]

(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

Reason 1: %>&A3Wr@) ......... al...Q f ....... #ZU gﬁé‘&f~’€xf> ...............
ot G oG ﬂﬂéfm&% ............ [ioe. gme Dhaet
(1]

Reason 2: .. lpder Codbing.. on.. Sandbalic.. /énl ...... ALY ...,
/}Z\M ........ ﬂv .......... ‘{dﬁt’” ...... (AL ... f N — i
Reason 3: ... /Oh ........ Dy[ ............ % Wy it . cut_of ..
%M ......... Dawuc... e 4 N A
_ jaeass ]

Examiner
only
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Sticky Note

Both answers are correct although satin stitch is technically the correct name for the stitch shown.
2 marks



Sticky Note

All answers are acceptable and worthy of credit.
3 marks
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(iiiy  The designer wants to add a single pink flower design onto Cushion Cover B as
shown.

Describe how to make a block and the process of block printing the flower. [4]

Flower design

...... Qi with..... O Plaia... o oF bhod. tewd.. Q... [0s 2. farom.....

daw._amd...... Cue.... Tha.. Kidid.... . Aeoiga... ouk . and... o8k .. ot
\’/‘l ; é/oo% ip... ba.....0 locy....iade...dpR.....cusnc..... 22T RR—

......................................

Tl Blomg. aots ... daicd.. focabio...ch.. L.

(iv) Cushion Cover A needs a piped edge the same as that seen on
Cushion Cover B. Using notes and sketches explain how you would make a fabric

covered piecewg piping and insertjfg into the edge seam. [6]
el N R

jchMﬂwfl,nmi ..... inty. M. F; ’{ I?WQWM sk baze

bisn_bia dingein ... Wsap on ica " b viedis

oo ... Pt T O30 /@Piﬂ

% Plgur..fbia... DtHch

War.._pllow. hgettu...du...
tye....cvk.of Do Pikoss...

A8 g U LD Wivne-

Examiner
only
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Sticky Note

The description presented is workable and therefore gains full marks.
4 marks



Sticky Note

A high level of understanding has been demonstrated, the process is technically correct. Clear sketches support the answer.
6 marks





()

(c)

15

(v) State the measurement for the standard seam allowance used in textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: ... 15(4/» ..................................... 1]
Reason: .. H. Dhaid b Lom)"‘”’f‘ﬁ ....... # 0/9[“4?) ........ Z% CaMm I the....
sﬁ&mquc‘“:""“H ..... wdonsitdent. A e Pilloe 2 owldnt.. e Al
N D2 00wt fin Vgt i niuésions [1]

The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the
covers.

Reason 1: .. Ax...if.. 5. . sl ble jd. Aeean' . raca. TR o eram

0 pheady o Jap o if h bt placd  presenr [1]

The materials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

(i)  Name a finish that will prevent marks from permanently spoiling the cushion covers.

Finish: ....[€ FEOVL e [1]
(if)  Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. [5]
To....Covapuct A Shirvieage. ot 2 dWinte  toun ..
G Dampli..of .. Ailternt. Iaduiofs. da... cus.. o abt. B The
Do Bize.. tond....Rcord . o pamch  2ach D ple. Dy,

END OF PAPER
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Sticky Note

Standard seam allowance is correct.
1 mark

There is some understanding relating to the pieces needing to fit together.
1 mark



Sticky Note

Reason 1 is correct.
1 mark
Reason 2 is not specific to an invisible zip.
0 mark



Sticky Note

(i) Teflon is correct.
1 mark

(ii) A comprehensive account of suitable testing for a range of fabrics. All important points included. 
5 marks










6.

13
The two prototype cushions covers shown form part of a new range of soft furnishings.

Cushion Cover A Cushion Cover B

(a) () Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

(i) The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

Examiner
only

Reason 1: .. PN it Lol H, P CY N RS A,
BN Lol o A2l DN G e
\ 1]

Reason 2: .. Lod S, DB E Gl b CHRLA Ctd TVl o2 AR

O S O TR SO f[/bff?',f’)::j I s W s STV TO T SO UIP SO POU PP I R SIS P
1]

REASON 3! ol Coldh i ColtT s It B0t F 4L ERD b

..... }Odﬂ’
[1]
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Sticky Note

Embroidery is not specific, what type of embroidery stitch?
0 mark

Pearl or beads are both acceptable but only one answer is needed. 
1 mark



Sticky Note

Reasons 1 and 2 are both acceptable answers.
1 mark each

Reason 3 is a little superficial. Laser cutters are expensive pieces of equipment; the fabric could also be expensive. This answer does not clarify cost and therefore is considered incorrect.
0 mark 





14
(i) The designer wants to add a single pink flower design onto Cushion Cover B as

shown.

Describe how to make a block and the process of block printing the flower. [4]

Flower design

N0 WO o 7 T S [ VR o oS L4l 96 AT D
and.. Clndan. Cindh L(/C’a@dé;f;@— ..... Ve P o Ve AN A S ot d e

Lo 7/ - Ferbric Capuss 7 @ et @2 O flolRer oleliop,

590” snlodorroo A fRLAAL U i Y A SV N YAR R B LLOCL S
(g

(iv) Cushion Cover A needs a piped edge the same as that seen on
Cushion Cover B. Using notes and sketches explain how you would make a fabric

covered piece of piping and insert it into the edge seam. 6]

,].)..fﬁCA.A.“A.../Qé,uﬁ.....){/’,‘.Qi‘.éll.i.i....ﬁfam(’/ Eal

) é; r‘
bﬂ/@mwngam .............. i
e Glp j&ﬂﬁ?}f!\af/fq/ Cl
2. SOt 1.k Gl 02
Joche.. G0 L b ht i
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Sticky Note

The main point relating to making a block are evident. The weakest part of the answer is related to how the paint is applied - use a roller to apply it perhaps.
3 marks



Sticky Note

Combining the sketches and brief notes there is some understanding in the answer. Technically it is not correct and the answer has not been sufficiently developed. 
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Examiner
[
(v) State the measurement for the standard seam allowance used in textiles and give o

a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: ... ) RS 0 40 [1]
A|
Reason: .24 3. 0 T ¢ A N~ 3D Yo7 F RN e O Vs WA Lo 3 S S S
. N L WO AR~ NI ot 7K = AN~ AR <=3 W <A [ S 2CS L ATD ;
- . ;‘A v -
ogip s “joina oA ce B I ﬂ’o"j e < oA 2z j [1]

(b) The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the

covers.
Reason 1: L/ G k.. G2d. El P S A2 3 5 S o 2N
B O = Y = O SO )
| |
Reason 2: ... 0nade b df ) 2l@es & /joa/é//lj ............ £ Do ol o2, SINCT
o BREL A BA L L BELLT) e [1]

(c) The materials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

(i) Name a finish that will prevent marks from permanently spoiling the cushion covers.

T N Y W Jine»
(i) Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. [5]
Cc/Hx/Ld .......... rmgé’ ......... Coffon I3l Bt A S AT AN X e o S
Seadbiablie..... o e Gk, bnctt) 3. AL 0D Cr B by
o2 S | inad..... EGo, Jel ... Ffo 45-@;{ ........ et B oo AT NL e
A i g GG AT o R £l X T 2 S A
N U= WS Lot dod A A S ST - De.. .enhte. A
LCLIER AR D  fe Fo it S lad e DR R
Al Lo Gl SHAECE D M2 s

END OF PAPER
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Sticky Note

The standard seam allowance is 1.5 cms.
1 cm is incorrect.
0 mark

The reason for applying a consistent seam allowance is not correct. It is to ensure all parts fit together as intended. 
0 mark



Sticky Note

Reason1 is not correct, it is not sufficiently explained.
0 mark

Reason 2 is an acceptable answer.
1 mark



Sticky Note

(i) Teflon is correct.
1 mark

(ii) There is a basic outline of a test that could work. It lacks the technical depth. 
3 marks
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Examiner
[
6. The two prototype cushions covers shown form part of a new range of soft furnishings. o

Cushion Cover A Cushion Cover B

(@ (i) Label the picture below to show the correct machine stitch type and embellishment
in the centre of the flowers which have been used on Cushion Cover A.

L Stitch type: . 1]

| Flower Centre: ... 1]

(i)  The little flowers on Cushion Cover A have been made on the laser cutter. Give
three reasons for using the laser cutter to make the flowers.

R AS N oot e et e e et
.................................................................................................................................................................................... [1]
RS ON 2 oot
.................................................................................................................................................................................... [1]
RS ON B oottt ettt
.................................................................................................................................................................................... [1]
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(iii)  The designer wants to add a single pink flower design onto Cushion Cover B as
shown.

Describe how to make a block and the process of block printing the flower. [4]

Flower design

(iv) Cushion Cover A needs a piped edge the same as that seen on
Cushion Cover B. Using notes and sketches explain how you would make a fabric
covered piece of piping and insert it into the edge seam. [6]

© WJEC CBAC Ltd. (3602U10-1)
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(v) State the measurement for the standard seam allowance used in textiles and give
a reason why it should be consistently applied when making the cushion covers.

Standard seam allowance: ... 1]

Y= 110 ] 1SS

(b) The cushion covers need a fastening in order to remove them from the inner cushion pad.

Describe two reasons for using an invisible zip, inserted into the side seam, to fasten the

covers.
(Y10 ) T TSR
(1]
RS ON 2. oottt
(1]

(c) The materials that the cushion covers will be made from will need to be tested and finishes
applied to ensure they are fit for purpose.

(i) Name a finish that will prevent marks from permanently spoiling the cushion covers.
BN e 1]

(i) Describe a test that the designer could carry out to compare the shrinkage rates of
materials in order to select the most suitable one for the cushion cover. [5]

END OF PAPER
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